MATHS

BOOKS - SWAN PUBLICATION

POLYNOMIALS

1. Which of the following expressions are polynomials in one variable

and which are not? State reasons for your answer:- 42> — 3z + 7

o Watch Video Solution

2. Which of the following expressions are polynomials in one variable

and which are not? State reasons for your answer:- y* + /2
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3. Which of the following expressions are polynomials in one variable

and which are not? State reasons for your answer:- 31/t + t,/2

o Watch Video Solution

4. Which of the following expressions are polynomials in one variable

2
and which are not? State reasons for your answer:-y + —

o Watch Video Solution

5. Which of the following expressions are polynomials in one variable

and which are not? State reasons for your answer:- z'% + 3 + ¢*°

o Watch Video Solution



https://dl.doubtnut.com/l/_QRxeuwu4QVRu
https://dl.doubtnut.com/l/_jtanP6xFOMfo
https://dl.doubtnut.com/l/_5r56qTTSEN9K
https://dl.doubtnut.com/l/_VT5HlVjTMTDJ

6. Write the coefficients of z2 in each of the following: 2 + 2% + =

o Watch Video Solution

7. Write the coefficients of 22 in each of the following: 2 — 2 + 3

° Watch Video Solution

™
8. Write the coefficients of 22 in each of the following: Ea:Q +z

o Watch Video Solution

9. Write the coefficients of 22 in each of the following: /22 — 1

° Watch Video Solution



https://dl.doubtnut.com/l/_0CWU7q1SlSUi
https://dl.doubtnut.com/l/_4O8RRJJJya4J
https://dl.doubtnut.com/l/_YGJ7fEdi8bXn
https://dl.doubtnut.com/l/_6T8omPend8XW

10. Give one example each of a binomial of degree 35, and of a

monomial of degree 100.

o Watch Video Solution

1. Write the degree of each of the following polynomials:

5z° + 422 + Tz

o Watch Video Solution

12. Write the degree of each of the following polynomials

4—y2

o Watch Video Solution

13. Write the degree of each of the following polynomials

5t — /7


https://dl.doubtnut.com/l/_ro4QGp2m7RpD
https://dl.doubtnut.com/l/_cwatpRDoHM4x
https://dl.doubtnut.com/l/_D2lHBbgSoo3o
https://dl.doubtnut.com/l/_GjtFnL57ABUM

° Watch Video Solution

14. Write the degree of each of the following polynomials

3?

° Watch Video Solution

15. Classify the following as linear, quadratic and cubic polynomial :

x2—|—az.

o Watch Video Solution

16. Classify the following as linear, quadratic and cubic polynomial :

.’17—333.

o Watch Video Solution



https://dl.doubtnut.com/l/_GjtFnL57ABUM
https://dl.doubtnut.com/l/_BE6AKYpTlFAx
https://dl.doubtnut.com/l/_NHk15yw4wb7w
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https://dl.doubtnut.com/l/_VFkWBMPp4Tyl

17. Classify the following as linear, quadratic and cubic polynomial :

y+y2+4.

o Watch Video Solution

18. Classify the following as linear, quadratic and cubic polynomial :

1+ x.

o Watch Video Solution

19. Classify the following as linear, quadratic and cubic polynomial : 3t.

° Watch Video Solution

20. Classify the following as linear, quadratic and cubic polynomial : 2.

o Watch Video Solution



https://dl.doubtnut.com/l/_VFkWBMPp4Tyl
https://dl.doubtnut.com/l/_nHg9USbJfwbC
https://dl.doubtnut.com/l/_ydF44j896CzF
https://dl.doubtnut.com/l/_beBbxHrwnNss
https://dl.doubtnut.com/l/_F6wD8xstEOPi

21. Classify the following as linear, quadratic and cubic polynomial : 7z*

o Watch Video Solution

1.Find the value of the polynomial 5z — 4z® + 3at z = 0.

° Watch Video Solution

2. Find the value of the polynomial 5z — 42> + 3atz = — 1.

o Watch Video Solution

3. Find the value of the polynomial 5z — 42> + 3atz = 2.

| ﬂlll,L,l,l'!,l,, o~ _01_ _a°* ___



https://dl.doubtnut.com/l/_F6wD8xstEOPi
https://dl.doubtnut.com/l/_kEZb0N5g8eJz
https://dl.doubtnut.com/l/_8RYZbTEA7Ouj
https://dl.doubtnut.com/l/_NXJwP0RSxvAi

| " vvaldll viaco S50I1ution ]

4. Find p(0),p(1) and p(2) for the following polynomial

p(y) =y —y+ 1L

° Watch Video Solution

5. Find p(0), p(1) and p(3) for each of the following polynomials:

p(t) =2+t + 2t — ¢

° Watch Video Solution

6. Find p(0), p(1) and p(4) for each of the following polynomials:

p(z) ==

° Watch Video Solution



https://dl.doubtnut.com/l/_NXJwP0RSxvAi
https://dl.doubtnut.com/l/_wEIUOYDGMDke
https://dl.doubtnut.com/l/_6WwdbFXPgTpi
https://dl.doubtnut.com/l/_SwxhBQOF7F54

7. Find p(0), p(1) and p(5) for each of the following polynomials:

p(z) = (z —1)(z +1)

o Watch Video Solution

8. Verify whether the following is zero of the polynomial, indicated

o 1
againstit:p(z) =3z + 1,z = — 3

o Watch Video Solution

9. Verify whether the following is zero of the polynomial, indicated

4
againstit: p(z) =5z —m,x = 5

o Watch Video Solution

10. Verify whether the following is zero of the polynomial, indicated

againstit:p(z) =z -1,z =1, — 1L


https://dl.doubtnut.com/l/_kiyH5014fpR8
https://dl.doubtnut.com/l/_be7P3NWQHbD4
https://dl.doubtnut.com/l/_SKnJ0w5yrzlM
https://dl.doubtnut.com/l/_7SyDmbvNSq0n

o Watch Video Solution

11. Verify whether the following is zero of the polynomial, indicated

againstit:p(z) = (z + 1)(z — 2),z = —1,2.

o Watch Video Solution

12. Verify whether the following is zero of the polynomial, indicated

against it: p(z) = 2%,z = 0.

o Watch Video Solution

13. Verify whether the following is zero of the polynomial, indicated

L m
againstit:p(z) =l + m,z = — R

o Watch Video Solution



https://dl.doubtnut.com/l/_7SyDmbvNSq0n
https://dl.doubtnut.com/l/_Ih5jHJ58cC2H
https://dl.doubtnut.com/l/_A36FH8aUZFx3
https://dl.doubtnut.com/l/_IM9bN8stR1il
https://dl.doubtnut.com/l/_7YvAgYTZPZK4

14. Verify whether the following are zeroes of the polynomial, indicated

against them,

1 2
p(z) =32 — 1,2 = —, —

V3 V3

° Watch Video Solution

15. Verify whether the following is zero of the polynomial, indicated

o 1
againstit:p(z) =2z + 1,z = 3

° Watch Video Solution

16. Find the zero of the polynomial in each of the following cases:

p(z) =z +5

o Watch Video Solution



https://dl.doubtnut.com/l/_7YvAgYTZPZK4
https://dl.doubtnut.com/l/_9JZMFeHakxru
https://dl.doubtnut.com/l/_1XVpTXv5u8I4

17. Find the zero of the polynomial in each of the following cases

p(z) =z —5

o Watch Video Solution

18. Find the zero of the polynomial in the following : p(z) = 2z + 5 is

real number.

o Watch Video Solution

19. Find the zero of the polynomial in each of the following cases

p(x)=3x-2

o Watch Video Solution

20. Find the zero of the polynomial in each of the following cases:

p(z) =3z +5


https://dl.doubtnut.com/l/_sYXtyK8OwN6G
https://dl.doubtnut.com/l/_OVl6A3JsOrYJ
https://dl.doubtnut.com/l/_q9p8EVpZSr1x
https://dl.doubtnut.com/l/_9aEzMtdLK4zH

° Watch Video Solution

21. Find the zero of the polynomial in each of the case:

p(z) = ax, a # 0 are real number

o Watch Video Solution

22. Find the zero of the polynomial in the following

p(z) = cx +d, c # 0, ¢, dis real number.

o Watch Video Solution

1.Find the remainder when z® + 3z + 3z + 1is divided by

r+1
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2. Find the remainder when z® + 3z% + 3z + 1 divided by
1

T -3

o Watch Video Solution

3. Find the remainder when x> + 32> + 3z + 1is divided by

Z

o Watch Video Solution

4.Find the remainder when z* + 3z + 3z + 1is divided by : z 4 .

° Watch Video Solution

5.Find the remainder when z® + 3z? + 3z + 1is divided by : 5 + 2z.



https://dl.doubtnut.com/l/_lWVVqDNmV5Go
https://dl.doubtnut.com/l/_1R4btHEr6rIP
https://dl.doubtnut.com/l/_x2Z3A4TxEPBz
https://dl.doubtnut.com/l/_LLed4FPvSW17
https://dl.doubtnut.com/l/_f4bxg5BkUpJq

| o Watch Video Solution

6.0n dividing z* — ax? + 62 — a by £ — a we get remainder :

o Watch Video Solution

7. Check whether 7 + 3x is a factor of 3z° + Tz

o Watch Video Solution

1. Determine which of the following polynomials has (x + 2) a factor :

a:4—|—a:3—|—:1:2—|—a:—|—1

o Watch Video Solution



https://dl.doubtnut.com/l/_f4bxg5BkUpJq
https://dl.doubtnut.com/l/_IdgXcKIxv97K
https://dl.doubtnut.com/l/_pMsP2fEBoHq5
https://dl.doubtnut.com/l/_pA6NXYOwBa95
https://dl.doubtnut.com/l/_RhrIHZyRciAG

2. Determine which of the following polynomials has (x + 2) a factor :

a:4—|—:1:3—|—az2+az—|—1

o Watch Video Solution

3. Determine which of the following polynomials has (x + 1) a factor:

:1:4—|—3:1:3+3m2—|—zc+1

° Watch Video Solution

4. Determine which of the following polynomials has (x + 1) a factor:

m3—x2—(2+\/§)x+\/§

o Watch Video Solution

5. Use the Factor Theorem to determine whether g(x) is a factor of p(x)

in each of the following cases:


https://dl.doubtnut.com/l/_RhrIHZyRciAG
https://dl.doubtnut.com/l/_KDnOlCr4NGQU
https://dl.doubtnut.com/l/_T4dB1pjcCY6N
https://dl.doubtnut.com/l/_3caYqibJbss2

p(z) =223+ 2> — 22— 1,g9(z) =z + 1

o Watch Video Solution

6. Use the Factor Theorem to determine whether g(x) is a factor of p(x)
in each of the following cases:

p(z) =2° + 32>+ 3z +1,g(z) =z +2

o Watch Video Solution

7. Use the Factor Theorem to determine whether g(x) is a factor of p(x)
in each of the following cases:

p(z) =2 — 42> +z +6,g(z) =2 — 3

° Watch Video Solution



https://dl.doubtnut.com/l/_3caYqibJbss2
https://dl.doubtnut.com/l/_lLCCHCq57UZN
https://dl.doubtnut.com/l/_cf86iQk02OlT

8.Find the value of k, if z — 1 is a factor of p(z) of the following case :

p(z) =z +z + k.

o Watch Video Solution

9.Find the value of k, if z — 1 is a factor of p(z) of the following case :

p(z) = 22 + kx + /2.

o Watch Video Solution

10. Find the value of k, if z — 1 is a factor of p(z) of the following case

:p(z) = kx? — 3z + k.

o Watch Video Solution

11. Find the value of k, if z — 1 is a factor of p(x) of the following case :

p(z) = kz? — 3z + k.


https://dl.doubtnut.com/l/_5qCip65n083a
https://dl.doubtnut.com/l/_Uowm4XDnRoOZ
https://dl.doubtnut.com/l/_mKiSRk0uYSvU
https://dl.doubtnut.com/l/_fvwKcfqPzTBU

o Watch Video Solution

12. Factorise : 1222 — 7z + 1.

° Watch Video Solution

13. Factorise : 222 + Tz + 3.

° Watch Video Solution

14. The factors of 622 + 5z — 6 are :

o Watch Video Solution

15. Factorise : 3z — = — 4.

° Watch Video Solution



https://dl.doubtnut.com/l/_fvwKcfqPzTBU
https://dl.doubtnut.com/l/_x1n5Pmu9ychL
https://dl.doubtnut.com/l/_gnSsWa1sI57s
https://dl.doubtnut.com/l/_lAXWaU9vOBqs
https://dl.doubtnut.com/l/_QE27QO479eJY

16. Factorise : z° — 222 — z + 2

o Watch Video Solution

17. Factorise: z° — 322 — 9z — 5

° Watch Video Solution

18. Factorise : z° + 1322 + 32z + 20

o Watch Video Solution

19. Factorise : 2y% + y? — 2y — 1.

o Watch Video Solution



https://dl.doubtnut.com/l/_QE27QO479eJY
https://dl.doubtnut.com/l/_JgcXWwCSJfz4
https://dl.doubtnut.com/l/_9HKTpOO2EU5K
https://dl.doubtnut.com/l/_TXIVuDMHAOS6
https://dl.doubtnut.com/l/_VTgl1w8ua4tu

1. Use the suitable identity to find the following product

(z + 4)(x + 10).

o Watch Video Solution

2. Use the suitable identity to find the following product

(z + 8)(xz — 10).

° Watch Video Solution

3. Use the suitable identity to find the following product

(3z + 4)(3z — 5).

° Watch Video Solution



https://dl.doubtnut.com/l/_ikv0mL4RyiA3
https://dl.doubtnut.com/l/_GdLJtcnT5nQ5
https://dl.doubtnut.com/l/_sjUPVwPMOYCc

4. Use the suitable identity to find the following product

)

o Watch Video Solution

5. Use the suitable identity to find the following product

(3 —2z)(3 + 2z).

o Watch Video Solution

6. Evaluate the following product without multiplying directly :

103 x 107.

o Watch Video Solution



https://dl.doubtnut.com/l/_WPapkMnKt6va
https://dl.doubtnut.com/l/_PpfacdHKHIAv
https://dl.doubtnut.com/l/_q1hPC2eocZJB

7. Evaluate the following product without multiplying directly : 95 x 96

o Watch Video Solution

8. Evaluate the following product without multiplying directly :

104 x 96.

o Watch Video Solution

9. Factorise the following using appropriate identities

9z + 6zy + y>.

o Watch Video Solution

10. Factorise the following using appropriate identities : 4y? — 4y + 1.
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https://dl.doubtnut.com/l/_vSf7JWPeEcCG
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100°

11. Factorise the following using appropriate identities : > —

o Watch Video Solution

12. Expand the following using suitable Identities : (z + 2y + 42)2.

° Watch Video Solution

13. Expand each of the following, using suitable identifies :

2z —y+2)°

o Watch Video Solution

14. Expand the following using suitable Identities : ( — 2z + 3y + 2,7:)2



https://dl.doubtnut.com/l/_nW2kVG4qdhGT
https://dl.doubtnut.com/l/_iBgIqojpL2Rd
https://dl.doubtnut.com/l/_WVp3PmiBC00N
https://dl.doubtnut.com/l/_PvdgCnnYolHs
https://dl.doubtnut.com/l/_rH9NbfFddzky

o Watch Video Solution

15. Expand the following using suitable Identities : (3a — 7b — 0)2.

o Watch Video Solution

16. Expand the following using suitable Identities : ( — 2z + 5y — 3z)2.

o Watch Video Solution

11 2
17. Expand the following using suitable Identities : lza — Eb + 1] .

° Watch Video Solution

18. Factorize : 42> + 9y + 162% + 12zy — 24yz — 1622

o Watch Video Solution



https://dl.doubtnut.com/l/_rH9NbfFddzky
https://dl.doubtnut.com/l/_jGcRfKrYWLm2
https://dl.doubtnut.com/l/_d3ZUTvLXrnKM
https://dl.doubtnut.com/l/_BcSB7X1wnMrR
https://dl.doubtnut.com/l/_s9g92MhjxyRd

19. Factorise : 2z + y2 + 822 — 2¢/2zy + 4/2yz — 8z2

o Watch Video Solution

20. Write the following cube in expanded : (2z + 1)°.

° Watch Video Solution

21. Write the following cube in expanded : (2a — 3b)°.

° Watch Video Solution

3
22. Write the following cube in expanded : l;x + 1] .

° Watch Video Solution



https://dl.doubtnut.com/l/_s9g92MhjxyRd
https://dl.doubtnut.com/l/_Cr0Eb84QYawC
https://dl.doubtnut.com/l/_JrtRHhlXTI2u
https://dl.doubtnut.com/l/_RaBaGU793xoj
https://dl.doubtnut.com/l/_Ym8862WRTvxa
https://dl.doubtnut.com/l/_p27HXh00rz6x
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23. Write the following cube in expanded : lx - gy} .

o Watch Video Solution

24. Evaluate the following using suitable identity : (99)°.

° Watch Video Solution

25. Evaluate the following using suitable identity : (102)°.

° Watch Video Solution

26. Evaluate the following using suitable identity : (998)°.

o Watch Video Solution



https://dl.doubtnut.com/l/_p27HXh00rz6x
https://dl.doubtnut.com/l/_tyFgxjWm2Z0E
https://dl.doubtnut.com/l/_QYG9tzRQ3b7y
https://dl.doubtnut.com/l/_lO4xKubD03vL

27. Factorise the following : 8a® + b* + 12ab + 6ab’.

° Watch Video Solution

28. Factorise each of the following: 8a® — b — 12ab + 6ab?

° Watch Video Solution

29. Factorise the following : 27 — 125a® — 135a + 225a°.

o Watch Video Solution

30. Factorise ech of the

64a’ — 276% — 144a°b + 108ab?

o Watch Video Solution



https://dl.doubtnut.com/l/_RLeGTGfduXFv
https://dl.doubtnut.com/l/_EdvTliZIQvyf
https://dl.doubtnut.com/l/_Zu5jD3eNJQZg
https://dl.doubtnut.com/l/_lHp5dHEQpnes
https://dl.doubtnut.com/l/_3MyK8r5WJYNN
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31. Factorise the following : 27p3 ~ 36 2 Zp.

o Watch Video Solution

32.Simplify

(z + ) (2* + zy + ¥°)

° Watch Video Solution

33.Prove that z° — 3® = (z — 7)) (2132 + zy + yz)

o Watch Video Solution

34. Factorise each of the following:

27y% + 12523

° Watch Video Solution



https://dl.doubtnut.com/l/_3MyK8r5WJYNN
https://dl.doubtnut.com/l/_jiZUnpHCYyab
https://dl.doubtnut.com/l/_Of72rW2x77Ja
https://dl.doubtnut.com/l/_KASiy8FvSIFV

35. Factorise the following : 64m?® — 343n°.

o Watch Video Solution

36. Factorise : 27x> + y° + 2% — 9zyz.

° Watch Video Solution

37. Verify that

1
2yt 2 - Beyz = S(@ty+2)|(@—9)’ + (¥ - 2) + (2 2)]

o Watch Video Solution

38.If z + y + z = 0,show that 2> + 3* + 2° = 3zyz.

o Watch Video Solution



https://dl.doubtnut.com/l/_MUKezcF21GM4
https://dl.doubtnut.com/l/_hOgu4RreTgzY
https://dl.doubtnut.com/l/_4apA9jRerXHm
https://dl.doubtnut.com/l/_k85ozJhShDAv
https://dl.doubtnut.com/l/_4AxpYFdyZMtz

39. Without actually calculating the cubes, find the value of each of the

following: ( — 12)* + (7)* + (5)°

o Watch Video Solution

40. Without actually calculating the cubes, find the value of each of the

following: (28)° 4 ( — 15)® + ( — 13)°

° Watch Video Solution

41. Give possible expressions for the length and breadth of each of the
following rectangles, in which their areas are given: Area

25a% — 35a + 12

o Watch Video Solution



https://dl.doubtnut.com/l/_4AxpYFdyZMtz
https://dl.doubtnut.com/l/_HnJbOSOFqdhn
https://dl.doubtnut.com/l/_aO3ySN5UMmwA

42. Give possible expressions for the length and breadth of each of the
following rectangles, in which their areas are given: Area

35y° + 13y — 12

o Watch Video Solution

43. What are the possible expressions for the dimensions of the

cuboids whose volumes are given below? Volume : 3z> — 12z

° Watch Video Solution

44. What are the possible expressions for the dimensions of the

cuboids whose volumes are given below? Volume : 12ky? + 8ky— 20k

° Watch Video Solution

Objective Type Questions


https://dl.doubtnut.com/l/_bQvSXIkwMVQu
https://dl.doubtnut.com/l/_C67qkUjfy7ax
https://dl.doubtnut.com/l/_0dvwWmXfTsg7

1. State whether the statements are True (T) and False (F).

A polynomial having only one term is called monomial.

o Watch Video Solution

2.State whether the statements are True (T) and False (F).

A polynomial having two terms is called trinomial.

o Watch Video Solution

3. State whether the statements are True (T) and False (F).

A polynomial having three terms is called binomial.

o Watch Video Solution

4. State whether the statements are True (T) and False (F).

The degree of a non-zero constant polynomial is zero.


https://dl.doubtnut.com/l/_2iOQxadZhzZd
https://dl.doubtnut.com/l/_uySJmYKwZ7oT
https://dl.doubtnut.com/l/_FH8eCKmFAXdv
https://dl.doubtnut.com/l/_QgIm5AnW8867

o Watch Video Solution

5.State whether the statements are True (T) and False (F).
The highest power of the variable in a polynomial is called the degree

of the polynomial.

o Watch Video Solution

6. State whether the statements are True (T) and False (F).

The degree of a non-zero constant polynomial is zero.

o Watch Video Solution

7. State whether the statements are True (T) and False (F).
A real number 'a' is zero of a polynomial p (x) if p (a) =0, then a is also

called a root of the equation p (x) = 0.

| ° Watch Video Solution


https://dl.doubtnut.com/l/_QgIm5AnW8867
https://dl.doubtnut.com/l/_yuSH0q2ZOCUu
https://dl.doubtnut.com/l/_huLGnElLUH8n
https://dl.doubtnut.com/l/_F8hyciWTAZ11

8. Find the degree of the polynomial

p(z) =1 — 2y + 3P

o Watch Video Solution

9. Tell the degree of the polynomial

p(z) =7

o Watch Video Solution

10. By using remainder theorem, find the remainder, when

p(z) = z* 4 4z + 2is divided by z + 2.

° Watch Video Solution



https://dl.doubtnut.com/l/_F8hyciWTAZ11
https://dl.doubtnut.com/l/_VEwOZd5SloZX
https://dl.doubtnut.com/l/_t8q43zOZsydf
https://dl.doubtnut.com/l/_ietNDfvPBdES

11. Define linear polynomial.

o Watch Video Solution

12. Define quadratic polynomial

o Watch Video Solution

13. Determine whether 2 and 3 are the zeroes of the polynomial

2 — 5+ 6 or not.

o Watch Video Solution

14. State remainder theorem.

o Watch Video Solution



https://dl.doubtnut.com/l/_XWYzWynraXg7
https://dl.doubtnut.com/l/_VWPOuCBAfqpV
https://dl.doubtnut.com/l/_Rc7fxJuAnwg1
https://dl.doubtnut.com/l/_zTitOZGpkPu5
https://dl.doubtnut.com/l/_fcXRUy4gBGRN

15. State factor theorem.

o Watch Video Solution

16. Factorise. : 49 — 64z

o Watch Video Solution

17. Factorise : 22 + bx — 24.

o Watch Video Solution

18. Fill in the blank

Division of any number by zero is not .................

o Watch Video Solution



https://dl.doubtnut.com/l/_fcXRUy4gBGRN
https://dl.doubtnut.com/l/_5ZknwUVh0RKW
https://dl.doubtnut.com/l/_iP01iIeL15OJ
https://dl.doubtnut.com/l/_sI9SYR5Nfp54

19. Fill in the blank

A polynomial of degree 3 is called ...

° Watch Video Solution

20. Fill in the blank

A polynomial of degree 4 is called .................

o Watch Video Solution

21. Degree of zero polynomial is

o Watch Video Solution

22.Fill in the blank

Dividen = (... X quotinet ) + Remainder.

| 6“',L,l,l'5,l,, o~ _01_ _a°* ___


https://dl.doubtnut.com/l/_tqDrA47PQmJl
https://dl.doubtnut.com/l/_vuTkObKpwTln
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23.Fill in the blank

(z — a) is a factor of p (X) ifeeeceeenen

° Watch Video Solution
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